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clear; clf; N=100; t0=0; T=1; t=linspace(t0,T,N+ 1);
h=t(2)-t(1);
y(1)=2; f=inline('1-2*ft+ 5*fy','ft','fy");
fOl’l 1:N
Syt 1)= y(1)+ h*f(t(1),y(1));
end

 exa=53/25%exp(5+)+ 2/5+1-3/25; plott, v, ko', 1, exa, ')
- xlabel('t"); ylabel('y', 'rotation', 0)
- legend('numerical solution', 'exact solution', 2)



O  numerical solution
“ — exact solution
ey o 300

250 -

200

150 -

100 |

A TaTetar ;’i:;;

T Ll

e T T
TRV AT T I

B TaTaTaTaTaTATATATATATA S e 0 W LSOO

.T.Y..Tn’.'l'.l"n"'="='= A L v WUNLTITLL

RN SR

0 0.2 04 0.6 0.8 1




